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All questions are compulsory.

T FEIE 1 A 8 0% AfaeEady v €)1 wlE WA W1 A3F efea €
Question Nos. 1 to 8 are very short answer type questions. Each
question carries | mark.,

VA FHF 9 7 12 76 3w 73 €1 vl W99 W 3 3w yafea €)
(I F HivFaq we2-Hm@ 50 T2 R)

Question Nos. 9 to 12 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)

WY UE 13 W 18 7% <daaia e § | WedE W ° A fawed #
YR Y W 4 3iF Anifea § | (3 A Afuswen y=L-wn 75 7= )
Question Nos. 13 to 18 are long answer ty pe questions. Each question
has intemal choice. Each question carries 4 marks. (Maximum word-
limit of answer is 75 words)

e wuiE 19 W 24 7% dd3aiy ¥ € ) WlE W i fawew €
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Question Nus. 19 to 24 are long answer type questions. Each question
has internal choice. liach question carries 6 marks. (Maximum word-

limit of answer is 230 words)
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W1 i waEn w anama et e g i
Where is the study of consumer behaviour done”?
WA-2 A W wrm few amn o ImEm R ? i
Which type af marken is brichs mathet?
W3-3  wFEfrR moan g ) ]
What is token money?
-4 IR-wIF A W e w £ 2 ]
Which bank issues notes?
WA-5 W SR fEat v ¥ oy @ £ (1)
IFor how much times is the government hudget made?
-6 W T TR fFd wwa €2 )]
What is deficit budget?
wR-7  wefun aeE fafig 2 fed w0 €2 [
What is called managed floating exchange ratc?
Y-8 g af=men frd wea €2 [
What is called closed economy?
WA-9  HWia 3T A 3mm w2 v fafag) [2+1=3]
What is meant by marginal production? Write its formula.
WA-10  of sfahfrmn wa wefusn # sim fafag (9 41 [1+1-1=3]
Write differcnce between perfect competition and  monuopoly
{any three).
WA-11 3@ 3 R F werardt fegin @ ¥ ¥ fagia ¥+ A am
qARY [1+1 +1=3]
State any three differcnces berween classical theory and Keynesian
theory of income and employment.
W-12 WOy gin d gy w9 R feed 5 A wive e o g (a3 A 2 (14141=3)
Vow many demands are included in the aggregate demands (any fhree)?
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uT-13 mﬁwﬁmﬂqm\mw}tmtﬂfu(mm, “.l.l'l-ll

w3-14

wet-15

wR-16

Wi ; :
He measures to correct the imbalance in the halance of
payments (any four).

Sy
OR
ftmfdﬁqnmi;wﬂmi:lﬂfmcmmm

Arzue in vour of stable exchange rate (any four),

T2 1 fardanall =) fafag (F% wm) |

: [1etolel=d]
Write the features of the budget (any four).

Haar
OR

WER) T2 Y SEvawa 1 et ¢ (3 =7 ?
Why government budgel is required (any four)?

v # w1 gfd %) dwfeva Wi s &2

[4)
What is the alternative definition of currency supply in India?

ear
OR

=t d& & amgfas = fafag (3 W) ) [141+]1+1=4]

Write the modem work of Commercial Banks (any four).

fael srdezareen 3 wwe sifm =g, wwe W s ¥ R =
1t ? =rEn #fag)

Explain why all the last expenditure in an economy is equal to the
total factor payment.

[4]

3rear

OR
frdt 3n & weam & Fiduie & w0 w60 W TR N F9 Wiy
= farfarg) .

Write some limits of GDP as the co-ordinatc of the welfare of a
country,
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W17 ke R e ks S e € 2 o Qen el (zrm 07 [2+2-4
How does the average fixed cost curve ook Iihe? Why docs it look
like this?
ey
OR
Adwre Wi S A st T s 49 ek 82 (4]
llow do long marginal cost and average cost curves look like?
W3-18 =y @@ wafe sbima #) siosfer i ) we S [2+2-4]
Explain the mutual dependence of micro- and macro-economics.
-
reer S
OR g
urafas wdra W aewleE andvreR ¥ s Ww wifag f
(% wrn) ) [1+1+1+1=4] E"
- - . - m
Explain the diffcrence between real ecanomics and ideul economics ;L
(any four) hitp://www.cgboardonline.com .:L
&
wra-19  freifea afwsl 4 fofes sm s Sofs wig s & oM S
=
Hferg [3-3=6]
e TR (FETY)
() wTE R W e 2 I - 8,000
(i) fa=ell @ wa faa wnrE o - 200
(rif) Hfaafa am™ - 1,000
() fma - 500
(v) wfant g v = : 1,500
(vi) oftanf gra e faeg s == - 1,200
(vii) W 3 -~ 300
(viii) Fafere w - 500
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Bas i
ed on the l'nllowmg information, calculate |
Disposable Income .

ltems

{ v i
() Net domestic product on factor cost

‘ervonal Income and

Rs. (in Crore)

R.OBO
(i) External secured net fuctor income 200
(i) Undistributeq profit - 1,000
(iv) Corporation tax - 500
(v)  Interest reccived by families - 1,500
(vi) Intercst paid by families - 1,200
(vii) Transfer incume - 300
(viii) Personal tax - 500

uar
OR
i szl & ara fafl g0 Wi S o mor AR (6)
¥ o (wgH)
(0 M A woRd - A
(i fatran - 700
(ifi) @™ B 13
(iv) = ) m
(v) INmER ) 4
(vi) WHS ey fafrm i H
(vid) & ek fafr ) H
P.T.0.
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Rased on the following information, calculate National Income by
expeniditure methsd
Htems Re tin Crogey
11 Nalanes amd wapes KLU

-

(1Y Rent Ll

(10 Profit : 1,300
() Interest - Son
(v)  Consumption expenditure 4,000
(v} Gross domestic investment - 1.500
(vii) Net forcign investment - 1.000
U¥I-20 R §F T fegia 1 sreraag fafay (294 o)) (6)
Write critiques of Keynes's employment theory (any six).
Huw
OR
sreafu® win % o fafay (9 02) |
Write the causcs of excessive demand (any séx).
wyT-21 @& O afz aran f vt g -
(37) Wge Fm R S,
(¥) WgeR sr@ A FH? (343=6]
What happens when the prevailing price in the market is-
(@) greater than equilibrivm price;
() less thun equilibrium price?
aar
OR
FIT FQ O AR YEq | S W Fwfag (W v) | 6]
Explain the differcnce between normal pricc and market price
(any six).
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ey
OR

i &Y v W wm and &2 ) SR T 12 [2¢4-6]

} N
What does clasticity ol supply mean? How is it measured?

WM ) yvifa F3 ar A 3 s W (a9 o) ) (6]
Explain the elements offecting demand (any six).

HE_T
OR

w3 fram amy @3 & w1l %1 s Fifm (3 o) |

Explain the reasons why the rules of demand applicd (any six).

AN T F Wi =mEm Fwifag [6]

Explain the indifference curve with diagram.

oo
OR

Tfz SovirE W Ra 20 7. A F]GH 40 5. O IR ¢, fay wrm arsfeafda
wh t TRy fEdem e ?

If the income of the consumer increases from Rs. 20 to Rs. 40 but the
price remains unchanged. then what changes arc there in the budget linc?

IR R R RN NN}
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